2 2 0.4 A
[ < E
=0. ]
2 50.35 ]
o ° ]
; T
go. 9 037
& E .3
0.25 4
0. E
0.2 4
0.1 0.15
0.1 .
0.05 ] R
N T N 0.05 :
o+ T T T T T T
k= 0.0040.0060.008 0.01 0.0120.014
8 Efficiency
095 0.0040.0060.008 0.01 0.0120.0140.016
Efficiency vs. cut on dz(PV)
—=— DQM_V0001_R000000001__Global__CMSSW_original
—— DQM_V0001_R000000001__Global__CMSSW_cleaner
2 L 04
[ [ ]
=0. o ]
=] =] b
2 20.35
[=% [=%
+ b= 1
20. i) ]
& & 037
0.25
0.2
0.15_; b o ....“__‘.-._..
k :. T T T T T
0.001).004).(506).0080.010.012_).014
Efficiency
.0020. 004) 0080. 0080 010.0120.0140. 016
Efficiency vs. cut on dz(PV)/dzError
g 0 o
5] ©0.22 4
204 (=% 3
i o § 0.2 E
go 3 goAla 3
< $0.16 3 '
Lo i E
0.14 4 ‘
0.2 0.12 3 7
0 0.1
0.1 0.08
3 ]
0 0.06 3 ~
0.04 CREFT
© 1B 3 . .
= . .010. 1 1
§ 0008 0510 IR SLO (RSN
1 L
095707 0080 0 0. 012) 0140 6.0180. 020 032
Efficiency (p, weighted) vs. cut on dz(PV)
Q Q
S I 1
20. 20.16 4"
3 =] -4
° ° ]
= = ]
3’)0_ $0.14 7]
= 4
(] ] 4.
w w 4
0.12 H
1 ’
0.1 !/
1. i
N I3
4 [
008 ., ¢
0.06 — PP
- =y
40 dardaid 00,0120 OGO,
o8 oDl

’ 002002.005.008.00. 01(201(101@5018 04
ff|C|ency (p weighted) vs. cut on dz(PV)/dzError

o
[3,}
Cut on dz(PV)

0.2

0.1

=y
o
Cut on dz(PV)/dzError

PN W A OO N O ©

o
o
Cut on dz(PV)

0.2

0.1

=y
o
Cut on dz(PV)/dzError

P N W hA OO N O ©



	Contents
	Page 1


